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Select the correct answer :
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Answer either (a) or (b) ;
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What do

ou .
fraction You mean by packing

and  binding  energy?

g;lfl;hte packing fraction and

. g energy of argon atom fg Ar.
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Isotopic mass of argon
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Write short notes on (any two) :
(1) e sREAE
Nuclear fusion
2) couEd peacl
Radioactive tracer
(3) Fhm couiEe 3
Artificial radioactivity
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yaration and one
Give one method of prep oy )
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White lead
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Lithium aluminium hydr}
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Sodium cobaltinitrite
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the following reactions
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Complete

(any two) :
(i) NagSz
(ll) NaBH4 +HQSO4 —_—

+KCN (excess) —

O3 +H,0+Brp —

(iii) FeSO4
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Answer any three questions : ( Physical Chemistry ).
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poelzxt(:xt ab?ut the source of lead as Select the correct answer :
of lead. Discuss the Poisoning effect ‘ ' o
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Ry REER e R wg? 3 The use of a catalyst helps in increasing
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Discuss th A . rate of backward reaction
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d
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N e TR R e ; reactions e
Mention the function 1x3 (iv) RS R oducts
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ne component system, at triple

point the
is number of degrees of freedom

) O
(i) 1
(iij) 2
(iv) 3
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(i) HCl, NaCl W CICH,COONa3 <5
wTgere YElE ARAIRSl T 426, 126
qeE 90 ohmlcm™lg eq”! T@
PTG GRE T AL FIRF
ool A 0 2%

The equivalent conductance at
infinite dilution of HCl, NaCl and
CICH,COONa are 426, 126 and
90 ohm’lcm“lg eq"1 respectively.
Find the equivalent conductance of
chloroacetic acid at infinite dilution.

UNIT—II

8 .
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Answer any two questions :

(@) g vs@emmmasﬁmmw
o Ry IR IR, 3 F

Describe how the pH of a sol‘ution can
be determined by using 2 quinhydrone

electrode.
(b) Wﬁm@mﬁﬁﬁ%mﬂﬂw:
Calculate the e.m.f. of the cell of the

following : '
2+(0.001 M)| |Ag" 0-1 M)|A

3

Zn|Zn
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Ag/Ag' =0.80VWR‘E;n/Zn,+ =-0-76V AR o frart .
Given What is adsorption isotherm? Write
E¢ = down the Freundlich adsorption
ag/agt =0-80V and Ey izn = —0-76V isotherm equation.
() =© fll QRER ‘
ot RS czar R ; .
Wri 1x3° UNIT—1V
Writ,
cell}se: the cell reactions of the following 0 :
6 F 2 rl' (@) WW(D)QWW: 4
e(s) [Fe 2+
(i) SlFe @g)| |Cu?* ag) | Cu(y) Answer either (a) or (b)
AI(S)|A13+(aq)| lAg* ag) | A | . —
(i) z 2 gls) (a) oy ST B | TR O AR
89 |Zn?* ag) | |Cu* fag) | Cufs) <R e 1+3-4
: State phase rule. Draw and discuss the
9. R UNIT—I11 phase diagram of sulphur. ‘
. m
. " any lwoquestions: I, ot . -
Y Ry . per of phases
T i . Write the num _
Distinguish, N &S “Aiefzg fora | and components of the following
adsorption, between absorption and reactions :
(B) g (1) Nz(g)+02(2)*""2N°(g) |
WW | R W?{"'l%ﬂ e @CA? gﬁx\ @) CaCO3(8 = CaOfs) +CO,(g)
W l X3
e T mmmeme
exa;logeneous catgf neous  a° . What is triple point? Write its
ples. ‘ ysis? Giv! gnificance.
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UNIT—V ;
14,x2%
11. R e 9 oo Bew R - 2%
Answer any two questions :

(a) QORFERE W g o R et o |

Define cataphoresis ang electroosmosis-

- D ‘ |

(b) T AF AT om0 ALFPTZ ﬁ’".c
Write the differences between lyophobic

and lyophilic collojds,

(€ CroREs I @, 9B Brrzgeprz
91
What s Peptization? Explain with on€ - ‘
€xample,

UNIT—V] 41

12. (@) cPRB-Reg BT Totoi <y |

Derive Lambert-Beer law.

1’37 / Or

) I
AT 1% 0 3o s e B ;
Distinguish between fluorescence an
; phosphorescence.

(b) 8000 A ORNG-RRE 8 g e 1 Zﬁn
| |
Calculate the energy of 4 Phot?i
corresponding the wavelength 8000
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